Task 1

|Circle to divide the objects into two equal groups.
Fill in the blanks.

(a)

(b)

(c)

of 10 =

] L

of 18

T [

s [N R ==Y =0 LS -5 Rt [ L TTE . - = . (= S8

1
— of 24
20

) Match.

— of 14

1.6
2

14

1 of28
2

15

1 522
2

14630
2

11




Task 2 - Use the extra space

yowr working out!

|Sam has a 12 cm string. What is the length of each
string if he cuts the string into 2 equal parts, 3 equal

parts or 4 equal parts?
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Task 3 - Use the extra space

Fill in the blanks.

(a) % of 16 cm = cm
(b) % of 30 cm = cm
(c) % of15cm= cm
(d) % of 33em = cm
(e) % of 18 cm = cm
() % of 28 cm = cm
(@) % of 48 cm = cm
(h) % of 20 cm = cm

(D %afi?cm= cm

yowr working out!



